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For an Ambiguous Guilt offering — "5n 2WNR2

OVERVIEW

There is a NP1 concerning the obligation of bringing an "0 awk 1277 for
transgressing a Mo°X ?90. One opinion maintains that this obligation exists
(even) if there was one ‘piece’ of MO°X PO, and the person transgressed this
A2 MoK 290, The other opinion maintains that there is a 21°1 for an WX
"9n only if there were two mixed ‘pieces’ one 0K and one M, and the
person interacted with one of the pieces. [The X7ni there cites various
reasons for the latter opinion, which n1vo1n will discuss.] Our &3 which
states that whoever is X2 on this woman is liable for an »>n owX seems to be
following the view of the ‘one piece’ opinion; the woman is merely one
piece of MO°X P50. Our MdOIN will offer two views on this matter.
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Even according to the one who requires that it be ‘one piece from two
pieces’, in order to be liable for an "Y?n owx; nevertheless here there is no

requirement of ‘two pieces’. Seemingly here the woman is comparable to a ‘one
piece’ poo (whether she is °mn or not) and not to a ‘two piece’ Po0. Why is there a 2rn
for an »Y2n owX according to the 7"n that requires M2°nn >Nwn NNX 75°nNn?!

mooIn explains:
= NN SNYN NN 1IPAT RNPYV (0w :1 97 mmea) JIN POD P92 WHNDT NN

For according to the one who explains in %28 P52 P2 the reason why one

7oonn of two nm>snn is required, is -
- 233 995 HY 99329 TWAN YD INOIN 9929 TWONT DIVN

Because it is possible to verify the 910°X; meaning that the M0X is

verifiable through an expert -
= NN 19V ON NN AVN ONX NINYIN NIINN 992V

! According to this 9KXT X% an ">n Dwx is bought only in a case where (for instance) there are two pieces of
meat present, one which is 7nn and the other MY, and an individual ate (inadvertently) one of the pieces.
In this case he is required to bring an *Y2n owX; but not if there was only one piece of meat, and we are not
sure if it is 9N or TOK, then there is no 21’1 for an 170 oWX if someone ate that one piece Awa.

? The reason that it is necessary that the 110°X be verifiable is (as *"w explains there) that the purpose of an
"Y2n DWR is to temporarily protect the person from 2wy until he can verify his sin and bring a nXun which
will absolve him completely. However if it is not verifiable then the nxvr will never be brought to absolve
him. There is therefore no reason for the ‘holding action’ of the *17n owx.
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Who will recognize the remaining 715°nn whether it is (forbidden) 2% or

(permissible) fat -
= 9N 21 YY 9929 HVaN ) NIN

Here too it is possible to verify the testimonies of the witnesses through

the 7717 process. Therefore it is understood that *Xp *Y2n owra 779y X237, If the ann >y
will be amn we will know that she is an °X nWX (and NXVA2 2770).

moon will now explain according to the reason of the other 7"%.
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And according to the one who explains that the reason m>nn "nw are
required is because that when there are m2°nn snw, one of 2%n and the

other of 2w, there is an establishment of 91938; we are certain that there was
a presence of 70X (as opposed to one 712°n1 of MO X Po0 where there is no XMOR ¥YIP*X),
then -

- W nUN NPINA HNHVY NIIDIN YaAPIN 9) NoN

Here too it is X128 ¥apsX for she was WX DR NPia. We certainly know that
for a specific time this woman was MoX (and we do not know that this M0°X has been
removed).

moon offers a different approach:
—M0N DYN DN 999195 RIN 9INRP WHN MHIN DWUN IND 9193 IN

Or you may also say that the 713 did not mean an actual »Y»n 2wy (for
since there are no N2°nn >nw, there can be no M50 DWN),4 but rather the X 73

meant that it is a an »Yon 2wWN type of transgression; meaning that there is a
T0°R 90, which is prohibited [7%1n3%] (even though there will be no actual 211 for an
7N QwR).

SUMMARY

The phrase *Xp 170 owRa 7°%¥ X277 can be understood literally, even if there is
a requirement for mM>Nn "nNwn NAX 72°00; since the reasons for those
requirements are met. Or it merely means that there is a M0°X P50.

? See “Thinking it over’ # 1.

* This may be referring to a third 7"», who explains that the reason for m2>nn *nwn nAX 72°n is based on the
(™ ,7 Xp”1) 200 of Mon owR 2rn,which states 3 ANZR 2on MR ANWYY Runn 03 wol aXy (in the plural),
indicating that two m>°nr are required. According to that 7", there will be no ™?n owx in our case since it
is not M2°nr °nNw. See w"R7;7 MooIN. Alternately, N1901N may be questioning the XM0°X ¥2p°X here; and also
that it is not as readily 7727 qWwsK here, as it is by 12w P20 271 oD,
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THINKING IT OVER

1. mdOIN states that here it is XRMDR Y2P°X since she was WX NWX npm:.s In
the plrevious6 mooin it was stated that the 7P of X011 X7 negates the
X"X npm and it remains a Pod. How can we reconcile these two maoin?’

2. The X3 states X»»p 120 awX2a ¥91 X°77; how will the first vwd of MooIN
interpret this?®

3. What would the ruling be in a case where two 0>7V state that this 72°n77 1s
2591 and two other 07y state that it is 710; should this be considered Y3 X
X0°X or not?

> See footnote # 3.

% xam ",

! See 170 MR 2°¥177 MDWA.

¥ See “Thinking it over’ in the previous X277 71"7 MO, See 239N MK DOYIT MW,

3

TosfosInEnglish.com



